NglI-T RS
™M | &l ol
Dr 4_ 4\
> |
X
ok
o
Ww“o+mmmbm
=84,935
o
o
00 5 \u
47,&
%5 g
I
I
I
I
I
|
I
|
I
799 \ X
gw%w&u;&w
S8
I
% e
2 S| 1
~ _ S
= o [TLiss
Bl Q
I >
Pz \
+ 0+808 S @
= 86/ | Byl H %
_llmw_m 4 &. __
a0 |
W mn\
rér/\./«u .40,‘
Pz
_IIN D+me
=20.001
0
o
™M
A Q
>
ﬂ\,s
ye./ =
\
S
I
I
\
. 9
N %«0 79.
I
I
?
I
I
(0] \
o
WW I
wmuﬁﬁa_ INE
=102.007 |95 T
.7&.« ry@é W ﬂwm,
N _ T
&@ __4
[
—_ W
Q
o T
d ! Ny
?
|
|
. BN
Pz 0+658.87 ||| [+
L=p7.984 PR
3 W
P7: 0+650.40 3
L=8.474 [Ll e
X
&«.“,%
oll
3!
o
<
&

p7: 0+619.4
_...Hw\\_mwmw

v

pZ: 0+6037

rH/@%_m“—.D N

4200

42,467
242,41 757

%

koniec chodnik

0

4554

AR A

TC

Gunupgup AT
%
@

Wpll"

Pz 0+013.66 -
L =23.817 3

P

79,00 45.40

Qg

=%
TORGS
,/)\}\

k205

4372

7
4377
|4

"% 4372 \-F .

LEGENDA

\

<
2| |8 :
L S g
52 P g
e 22 ¢
| o N8 ) .
<|°s &2 i
L | 2 =0 g
>(85|38 | &
< | 5582 | 2
= (88|22 |8
= 1 w w o
Ols%| 3z z o g
= .| 29 o g G
<|[39|x50 [2x :
AQlss| 8N 55 553
O w1 w_s mg ._H.. WWN_
O | S| 2k |Safslsg | 3y
Dlm —_ < 289, S
S o) W.J KAW%WD gE
O om O QO Sm 20 %m
S-S5 |u& I H
O|&ad>| 23 wx| 238358
< EREA R EEE
N WS <o| |[858|8%¢8
NZ z 9 wDO8|lo<?E
— ax | S <i3|82%:
32| |veglged|s
o f==-3 INR=E-1EH
X — <
o |8 |12 |3 [
o & clgg |2
= = Z|3 S
2 s x|z x
Z |o|a a
[%]
e
3]
©
5
E ©
]
8 £
. ©
. c
> o 1S &
o mv_mc ©
g S @ S
O oo >
3 s D= £
c krg WC
S = O N
g Bg¢g EXE
)
bAkwom S5 8
c > o C 0106
WSent TR 3
172 nmehvul V..WnWAuW
0% o v g ®
cfo8 .Jma..oeoe
N © © © ‘T 9 ¥ g
.CraktchWkZ
a.laktSSSao.ﬁC
8 821 3 T S 9 2
nUWSOWZYaoren
d..l..m0k Xwntpﬂz
M= ST LN L 8528
Q () _mmlm T o3 275
0.mpzvv,.|.z.|,|n.z.me,%pu
SESTETET oY EEF
eO.l.ha s 52283
5923588588
1 1 1 L I | 1 1 1 OWSW
1 1 1 1 1
o
N
% 0
X

OCZATEK OPRA
a
=
yy.%o

X i..




